\
: . . . & bl
QB TEBIEDL LTSI AauaflBHaT Blaneownd 1 mszIb
apBevmp Gatenamn uftens - 2022
|G Conducted by Ficld Work Centre, Thondaimanaru.
el 1" Term Examination - 2022 |
LEPI\_\'sics ] [ Gr-12 (2023) } . [ Answer } l
“|
u@d - |
on 2 06) | 1y s 16) 3 21y 5|
| |
0 2 07y 5 12) 2 17y 2, 2) 4
| 03 2 08) 4 13) 4 18) 3 23) 4 |
04) 3 09) 3 14) 3 19) 5 24) 4|
05) 5 10y 5 15) 2 20) 2 %) 5|
|
V
|
Boad s
B i :
V;‘w"‘\ﬁ?’}., "7 @
,'$‘ "':“’;ﬁ[.f N F s 2 \
h'ﬁ;’rd "r:.. ,a’ “__J,’_,-’ !\"-,3_ . d |
?5*}\': ""'-{“: i Tt |
w AT PE =mu g s 3
v BN TEh A ~ol |
—d ™, 1 % ‘\‘.‘\l A e b FoX, \.'d' A r
D50 . | ). .j = & |
P - VT * o ‘-
4 g'!"'k b st |
" { : : =Y
|
wwde e nych cam - 3INTJDDG
Grade - 12 (2023) FWC 2022 l

Physics answer

kalvi.lk



https://kalvi.lk

l — e ——————— ]
Paxt Ti. A S'l"rucl(turo_

(02) |

——D

o (T) A- Ann | D 4 covrech
B - [__N[;r\u(.
C - Ratchet
n - Tl\tmb\t’.

g ] e —— """b (OQ‘) |
0 L L covvedch !

pp o correch —b (0D |

' (E) OOl mm il P @|)
©1)

(M o> asmmo —F

4 be odded — P (1)

V) Shoul
SwB‘i‘rm‘?‘QJ:-""‘"’b (@If) ‘

.i ' waou/[c; be
| o1) |

E (C-:j) A“Vil, Splnatlé are Pac‘e_cx-—-""‘"'b(
orre rrus(rec(.-—-—-"’”@‘-)

Arwnl 3 SPlnca“e‘

| (\Ej) 0 9o xoo/ = v /e
’ g

‘I o S | MM _---——'-""—b COD-)

| (vud Diameter p—Y (1)

1 - nc.hc.u-[a“ L |
| B\[ ob-f-amms rreadmj pe pe

n Several places

l
p(©2) }
|

E each other a.ncf +he mean.
| | |
(E) A) Miero Scryew Suaﬁe p(g')
of
! b) TI"NS' ObJ QC‘/(' cannof be Ptacﬁa be‘{‘weﬂﬂ "’"’\e, ‘e“lg |
fhe SP"\(L'romQ_i‘e.\-- —_—) (@{)
L ' | 20

Grade - 12 (2023) FWC 2022
Physics answet

kalvi.lk


https://kalvi.lk

o2 .

i 23) FWC 2022 RN =
Grade - 12 (2023) FWC 202

ad C;') f\"qrnmts Pc.\-r{‘_g.

f Q,verj'”'nnj 18 corvec —f> (,99-)
f any 9 ov 8 covvect — (o1

('1'0 ©:s -4 xo.¢
5o

p (@29

= 00! mm

b> ?:‘Hlnj honzen'f'alhj in +he 8ame 8"‘m13h1 line witth fhe

“\‘rcwv.lma MlcY‘OSCDPQ.- T COD")

o) Rotate the mieroscope Ve_rhmllj ond measuring the ‘i

I)Q.f*we.en the QBJQOPNL amd the paperx when @bsqrvmj

(ot form .- |
clear image  of the paper on H‘sg mievoseope P |

m tQ.\ !
d> Fl‘H-mj +he end oFf the cg?d\o«rj ‘|'u.b‘¢. oppTo Nt et 3 7[
thies distance. —— ]

—_—

+ e i

|
|

|
|

|
i

. Physics answer
kalvi.lk


https://kalvi.lk

o Q= 1y.85 - 1b.4S a -  uu
= 48.60 MM, — P (e 1
\J" v Axl |

(p*-d*) L |

-
-

1)
Ho o 2

' L -2

\

3 xa7x9e'S xloh f
4 !

-G
199 X160 m° > (o1 ',
l

L _ |

il

02. a> Pule —s @

> @20

5> E:JPHa"‘ . 9P@ CosE

Te ©-0 , obtamed maximum resultant - Lmax 2 pta —> €9

TP O=igc®, oblaned minimum weswltant Peunc P- Q—>? ©9 ‘

¢ (17 Poll down @erh+ W er _N: (P o Q') ov &tone, and

Stowfj acelease . .1F to see 1f 1t weaches the

Sf‘wr+!nj mehoﬂ ond #reloxes. —F 2D ‘

(i To check that 1f there 1s frichen be*&;)e_ﬁn ?u—“e‘{g and axs.
— (02D

(IIII'D Pen.cc‘ > DuVrder, Set Sq/“-"""e y Mivwor , PlﬂS-———D@)l)

C‘) 07 Keep the get square Verhca.uj and manxk two f‘omts-
o ' ' '
Place +he. mirror under the 'H'\Tea.&s ano‘. mor +wo romfs V

& (02)

when 1t 1mage dugappear.

Grade - 12 (2023) FWC 2022 ——
kalvi.lk Physics answer



https://kalvi.lk

|

o _ )

ol ol Po'rn\:': |

U Pamw the lines  That qe ”\'rn--ﬂi\ the,

'\{Cﬂ.“.u'n‘ ”\s' ult‘lﬂ‘\f f\“ ”\“ ‘»ln'(".‘(\f\fi (\(]'l |r. the u)(‘|1hl }

Seclecl The ?"""\l‘l" seale (‘"" mavk The arele lc'n:]'”\ |
oo In comelefe the
l)\‘:\“‘\ ”\\‘ g‘(‘lu\’ ,.u\(' ‘w.\'(lutl ,".N"”l ( ( -
— = (02)
]‘(\\'(\ Helo ("\‘\n\ )
C‘IT‘) L\ :J'\i \ 6: 1 er(q On.\a
:\I;’plli QO, \ n;-;;—;;-:avx (Cosas’
R —— ) S =
oo+ d0e v areeo o <2
\ V2 N
=.,l300 t too Xy
112“4-0
6 > (o2
= 4¢t-2 3 .
o> x TF string 15 nof werqhtless. ol
J J —a5R
x Df the polleys have Prictron. > (o0 py

0a. a) G5 Pz zsx ok = S Ne ——= (o)
G T = Y, X008 x28o — (o0
- 1.2 N.S'. P (@l)
Forom the avea covered with the time axis on the 81—“‘:&\.
= e @V
dll) pav z'_'_"l;-- = l_l-_'l_.‘ 1:’ - Ofoto i
t 009 gr - rav-
= 1o = 1wON ~b (0?-') “
|
Grade - 122023, Twe 2022 . 5 — |
Physics answer

kalvi.lk


https://kalvi.lk

! —
| (V) 25
o Tz mv-m(-35)
‘ T-= m Cv 3.5)
|
v o V+35 S I/m. |
v3s 2 Wz |
o\t . |
' V= 85 ms b ©20
l (2] |
: . T For 3«70?"1 —— @2_) ’
To md‘cah" the Valw ‘
in the axis.— ©2)
013 ‘
T —e () |
}
by %,_mvm: mﬂL
Vi‘l 0 X1oXo: 2. ‘
V= 2mg! P ©2)
. |
) o= AV
l; |
=279, .
o- -2 .__.._.bA e
- 20 mM$
‘ (dh ch - mq -~ ma. ——P (02)

Fov = co Cro420)
- (goo N ———® (o)

20

Grade - 12 (2023) FWC 2022 » e
kalvi.lk Physics answer



https://kalvi.lk

—_—p (02) Jl{
?
|
k i
| @) ACC.O'(‘O!mj b congeratien et enevqY ,
‘ . 2
‘l myhz fpme
Vo = \Ig,sh_-' 5 (e2
(i) No.
s ' ' r to the
, The Teaction R"\“o@ acts o,fwo.ssv Pe,rfo.nohcw(& o
| diveation of motion of the block. —p (023
> (I) :;::‘.ov‘o‘\nﬂ to whﬁe-rya‘hcn of mdmeﬂ*ﬂm;
o= my - M-V p (oD
Vieew b (02D
M N
2
D mghe fmyt or MY o
' 1 ) 2 For Su.bsh-}u*?—- I
n'!ﬁk = Yymv o+ My MQ“;:/ ) —p (oM
. 2 "-va.
-y‘sh: ]/9_9“’ "“/D-ME'—\-/"TT
: . ) %
9_3[‘\: Vv + mnVv |
. a | | |
2 i L
V=23 = vz [ 2ah |
i+m ; : ' |+ ™ T b(OR)

Grade - 12 (2023) FWC 2022 kalvi. Ik e



https://kalvi.lk

(B Yes — .

cep (O

h
The co““‘Pon'en!‘ of +the normal reaction acting of The

———p 02D
Aivection 6F mofien of the Hoek A
©@®  ymd —
@ o o - (02)
H O > ©2)

“~
w Accoro‘:nj to Congerya Hon of momentum,
mMmu =2 (m+M) o —p(02)

Uo: my

M4 M

— (01D

(v Yormu’z '/D_Cm‘rM)u: r m3he —¥ (o

Bs‘—ri‘u*?_.
Su

* iy, Cons M) (MY * ma b _ff_i_-——v (@
y,_rnu- - /.2. Gm + M3

ho = mu?—
C 2gCmet) Ly 28
COS.-) @ (I The aqesultant force teo ‘bel zexo —p (02

T he moment of Foree bo be zevo ~——P (o)

(..C) To write the P-r-\nmP'e ok the mome_n{t.-—-——'P @3)

& (1>

g — (@D

R
:T” T Normal weackion
‘ In. 7 — (02)
T t Ta. | ension T, Te
’ .
. (IS , ‘Neuﬁ‘ﬁ mq » Mg — (02
| m
Bl %
Cpor boeth indicate and name)

-

Grade - 12 (2023) FWC 2022

' Physics answer
kalvi.lk y wer


https://kalvi.lk

‘Ih f For e_c‘u.\!l)fnurn -—

Q: (n‘ng_

Rz CMim}yq ——— ©2)

Verhcnuj \,\pumvo‘. —p () \

(@) Moment of (orvece aboul the QA%Q‘ :

Mj’)ﬁ: Mg % —b @27 | |

m=z M.
(I¥) To 4ake The moment of fotce o.bout the P“’o‘. P&om\' Fo
Qqul|b?tum ‘

MS'X Cos® = ™M9~* Cos & ___.———.p(Ol') ‘

o= M —> @D

(C) (‘T> TO ’H\Q VQ.Y'HCO«J Q’q,u,t.bﬂum of' ‘H'\o__ Par\
3T Ces SD‘ z m's —_—P (OI)'
‘T: Q-m‘S-H _...—--—-—-"b (02)
EXFY
-%

(B) Gz Ax.to-'z x Sin CG“M") x 100 RO x10 —p (02) ﬁ

24X w > Nm —p ©V ' ﬁ

(.;j) Moment of force obout the Prvot Ponn{'

-1 -3 - -
ox 2sxio . Cos (€.74°) = 4xie + Cro+ 0.2) 10 X 25X10 w Cos Cs2ar

—_— )

m= 0:7984 \e-g

7984 9 - p (D
() Eq,u.!ubﬂum occures at the PO.N“IUn of glope when the
P!ace& on +the pan of the balance . Due

uneq,uo-l moss e .
tothe moment o the beam mass, the SAluPe Further

tngveases as the |Mb‘-a—lanc.2 increases. ——yp @9_)

30

o — |

e (2023) FWC 2022 T Y ‘)w
kalvi.lk Physics answer


https://kalvi.lk

[ —

(3 (ﬂ§ (I
/2
AN

@ ¢ Fox vocket

— ——— e

(o3)

T S: ut + }/g_cufq‘ —_—D ((‘.')l‘)

\ 2
1000 2 OX40 + JaXAX 40

az 125 ms™? > (o)
. () Fox woclketf
t Fzma & (o)

F ~-mg 2 ma —
Fzm Ca+3')

~sxto® (1-25%10)

6 .
2$. 625 xto N p (o)

of vocket wth

wes Féci to eorth

CE’-) ) Ti\e UQ[OClt‘j

C\/RE) 1
tyzurat —> (@0

\Veg 2 0+ 1'25%X 4D

> gomg ———p OV

Vag 1 Vag= soms’——> (0
‘ ‘o roclel:

¢
) Ve_focd:j of object A with aesped

Vae zVag + VER = (o
g0t * oo
z O b (@N
srade - 12 (2 WO N 0 ]
Grade - 12 (2023) FWC 2022 | Physics answer

kalvi.lk


https://kalvi.lk

\

_—h (él)

X
@) 4 Szutdaal
(o) e"

—1000 T gqx‘.‘ + yL x C-

» ©1

E=20s
&) ¢ vautat ——» @O
V= 5o 4 (~te) 20

V2150 ms ——p @D

Gy V™

'T\:CS.D (o 4_)

|

Srade - 12 (2023) FWC 2022 -
Grade - 12 (2023) kalvi.lk

Physics answer


https://kalvi.lk

by (T)  \Vae

Vee = ‘T‘ goms—‘

|

r

\[, soms”

Vag = Vae + V€

|
! V2 oF |loXy

Vz igoms™ — (01D

—— (1l I

, 20 ———=b O

|

| (D | Szut+fpat’ > @0
| .

4 love = I/ x toxt™

| 2

; /

E «E - ,290‘

i

| k= 02

l 2 (oxX "4

l —lys ——> @D

h () § 2 veatat ——> ©0

20

Grade - 12 (2023) FWC 2022 kalvidk

Physics answer



https://kalvi.lk

Educatlon . 6TIG1 55 61T @gﬁl&,@asrrm
6T6voT6B0f 11D 2 618 5 516V LoITesoT6U I} 861D 6 &5 68T

epﬁcsnam HAHS ST (H HMM6V &L LEBILOLIERL 2 (IF6UITE (5 556V.

SIMETHGILD 19881 L6V LWILIL(HISSLILLL @H& &TevSSH60 LIvGeUM| &I60MEEHLD ST6V
RLLSGHIL6T Q@QemettThgl LIILL6V HeMHH0 LIVSILCILIHE euUHSTMEST. HHS
eUm&EWIN6L HevallHGHIMMUIL @EME aldHlallsusassvsn. @lenstrweulfl &sevaliluilest
epeud  sevellgglemm  YHwWOsTMH uflomesrsemns  elligu]eTengl.  ($MILUTS
CaerGrmeorm  GuUflLy  &meusHlev  BMGL  (WLSSULLIY(HHSS.  @)SH6eTT60
LOmesoTeUT &6 IMEGWL LTLETem6V, &6Vl HimieuesTrsefimE @emruilevmssr C&mLyy
HISTYSESLULLLS. HS @&SLLTeT (GLphleneouiley @enssrweoulfl 6@ LLs6T
LOTesoT6U T &6TTIM(& eUTLILNTETS DTS HenLHSHS] 6T60TLIGCS 2 650T6mLD.

@6t GCETPEVHILLILD LOTETITEUT&HEN6T SHEUMTEST LITenSHE(E QL[ OF6v6usHTsS 6If
6T600T600T 6L L LD LD&&6T SHSHIUN6L 2 66|, GCISTLHVHILLID 6T6sTUS] 6(H H(HeW
L HIGL Hens ereusumm| LWesTU(HSHISHGCMTD 6T6TLISH6V BIS60T 2,58 LHMID b6
ellememeysem  HrwmesfissLUbEIDG). 2 eflemw  Gsmesor(h) Flenevemw 6l&gIHs
BleneTESHT6V  euest  HleFwid FOUE  guseumbd.  @miE  LgsflemsTwims
smessrLILI(hleug| LmessTeufsens eublLIL(hES ClSTLH6VBILL 2 6086160 61 (PEMMWITEST
SLLenWLIL @6VeuTenCw. emsd 2 (HeuTshEHUCsH 6ImgGsT CHTHESWL. NS
CrBm& &G 6TMRIGEIT LILIGSITLD {6BLOW|LD.

6108 @enesTWSSeH)TLE 2enL s 2 kg6l (G Ggemeuwmest
ufleng aflesTng g MeTEem6m G 6V (G 6umest (Wemmuiled Grallm&éaswd
Q&g Q&meTem(Wigwid.

kalvi.lk

sevall #mj QFLSHEEn6NT 2 L6015 (L 66T SINIIHF QEMEITEN 6TL08)| FEPSE 2enL &
SenraserfleiT 20L& 2 1L60)15(5L65T I8 Q& meiTem (Wigwyb.

@ Viber Whatsapp @ Facebook
Community Channel Page



https://whatsapp.com/channel/0029Va8ikv9AojYjtBacLQ07
https://invite.viber.com/?g2=AQAx39OnsMd57Uyj%2B%2BMKbgIa9PlUwuwO7b5u3a4rcx1q6I7cPOSSXnvZZgdpc8Ar
https://www.facebook.com/profile.php?id=100089887876732&mibextid=ZbWKwL
http://kalvi.lk/
http://kalvi.lk/

